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Pilar says that the two linear systems below
have the same solution. s she correct?
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Factoring to Solve Quadratic Equations
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Solve by factoring. _ o
Ao =5 C-5¢ A= B2 (oo
@ -15a+56=0 w+2n-15=0
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A restaurant serves a vegetarian and a

chicken lunch special each day. Each TL L/é 7//2 l\/ qt %O C/ﬂ\j

vegetarian special is the same price. Each

N
chicken special is the same price. However F vyy; ), ?\/ +36c () g,
the price of the vegetarian special is different

from the price of the chicken special. — L/Q 03 = - Xﬂ\/ /W

o On Thursday, the restaurant collected
$467 selling 21 vegetarian specials and (/X% 0=2 fOV 4 {Lec
40 chicken specials. —
o On Friday, the restaurant collected $484 £37) = v

Bell Work 3-19

selling 28 vegetarian specials and 36 =Y
chicken specials.
What is the cost of each lunch special? 7 =V
Ve ¢ 5{@((&\777 (/é7 /2)[7)4/\100@
Uiclon specinl #8 4e9 = y7 +Y0
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. The area of the rubber coating for a flat roof was 96 ft. The rectangular frame the
carpenter bualt for the flat roof has dimensions such that the length 1s 4 feet
longer than the width. What are the dimensions of the frame?
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Write each equation in standard form. Then solve.

21 + 51— 35 =32 = _
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Find the value of x as it relates to each rectangle or triangle.

Area =60 cm?
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Area=201n?
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